
ELG3331: Tutorial for Chapter 9 
 
Problem 9.11 
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Problem 9.26 
The capacitor will charge to 5 V – 0.7 V = 4.3 V. Accordingly, the average value of the 
output will be 4.3 V. 
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Problem 9.32 
At ωt = 0, D1 is on and when ωt = π, D1 is off and the reverse voltage across it maximum. 
Vs = 170 × 0.1= 17 V 
KVL: 

011 =++ LDs VVV  
At ωt = 0, VP = 17-0.7 = 16.3 V 
At ωt = π, VD1 = -17-16.3 = -33.3 V 
 
The actual peak reverse voltage (33.3 V) is greater than the rated peak reverse voltage (30 
V). Therefore, the diodes are not suitable for the specificatiob 
 
Problem 9.37 
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At ωt = 0 (D1 and D3 are conducting) and D2 and D4 are off. 
 
KVL: Consider VD1 = VD2 = 0.7 V 
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